MRIXFEEXHAE

SH55E4 8

FAN

7]
F£HH IHE RES £%1([)
R5.4.15 Ea [ERxXH: 11,622
R5.4.15 S |ERXH 3,874
R5.4.26 £ |ERX#H 6,000
it 21,496
SHSESA R
£AHH HE £%5([)
R5.5.10 S |ERXH 7,500
R5.5.13 = ERXH 5,500
R5.5.17 = ERXH 5,000
R5.5.20 = ERXH 10,000
R5.5.24 S |ERXM 5,000
R5.5.25 BNE  [hEESLPR 8,800
R5.5.30 S |ERXM 6,000
i 47,800
SHSEA R
F£HH HE RES £%1([)
R5.6.1 BNE  [hEESLPR 4,400
R5.6.29 2% |[EREXHR 6,000
R5.6.29 BnE  [hEESLPR 14,304
£t 24,704
SHSE7AR
F£HH HE RES £%5([)
R5.7.1 BNE  |[hEESLPR 7,128
R5.7.15 GIREE S 10,000
R5.7.19 2% |[EREXHR 6,000
R5.7.20 = ERXH 4,500
R5.7.23 = ERXH 10,000
R5.7.27 £E |[BERXH 10,000
R5.7.27 BnE  [hmEESLPR 3,564
i 51,192
SHSESA R
F£HH HE RES £%8([)
R5.8.9 £ |[ERXM 5,000
R5.8.8 SNE |[HmEBELPR 9,820
R5.8.8 B E  |[HiSESPR 6,900
R5.8.17 £E |[ERXE 7,000
R5.8.19 SNE |[HmEBELPR 3,300
R5.8.20 FovE | hiEESPR 4,950
R5.8.21 FovE | hiEESPR 4,950
£t 41,920
SHSEIA R
F£HH HE RES £%8([)
R5.9.6 £E |ERXH 2,000
R5.9.15 BNE  |[hmEESLPR 3,564
R5.9.18 BHNE |EEEm 22,825
R5.9.29 £ |ERX#H 6,000
R5.9.29 HNE  |fERm 3,000
R5.9.29 S [hEEMPR 3,400

40,789




THSE10A L

FHH 18§ RE £2 (M)
R5.10.6 HNE  |[hEELPR 2,894
R5.10.10 22 [ERXIE 9,500
R5.10.15 ERENEZEET 5,000
R5.10.18 | #5& [HEE&PR 1,500
R5.10.25 22 [ERXIE 3,000
R5.1028 | #5& |[HmEE&PR 14,256
R5.10.31 22 [BERXIE 3,000
=F 35,150
SH5E11 8%
FAH IEH AR £%(H)
R5.11.4 £ ERXE 9,000
R5.11.7 = ERNIA 9,500
R5.11.8 = ERXH 10,000
R5.11.9 & BERXIE 2,000
R5.11.15 | #5& [hiEE&PR 2,548
R5.11.20 = ERXH 6,000
R5.11.26 = ERXH 8,000
=F 42,048
SFH5E12A%
F£HH 18§ RE £28 (M)
R5.12.1 B |EETH 5,000
R5.12.5 = EEXIA 5,000
R5.12.7 = EEXIA 5,000
R5.12.15 = ERXH 5,000
R5.12.21 £ ERX 5,000
R5.12.22 = ERXH 10,000
R5.12.27 = ERXH 6,000
5 41,000
SH6E1A %
FAH IEH AR £%(H)
R6.1.9 HNE |[hEELPR 2,899
R6.1.9 & ERXIA 9,900
R6.1.14 £ ERXR 6,000
R6.1.15 £ ERXE 6,000
R6.1.17 & BERXIE 6,000
R6.1.22 & BERXIE 8,000
5 34,399
SH6E2H R
FHH 18§ RE £2 (M)
R6.2.4 = ERXH 6,000
R6.2.12 B [EEEH 20,000
R6.2.12 BE|BEAET 17,600
R6.2.14 e |[ERxXE 4,320
R6.2.14 = EEXIA 1,080
R6.2.14 oL E | thisE mPR 2,376
R6.2.21 g |hEERPR 1,800
R6.2.27 HNE [hEELPR 3,400
X 56,576
£H6E3AS
ZHB | B&H RE e A(z)
R6.3.12 HNE  [hEELPR 1,700
R6.3.24 & ERXE 9,000
R6.3.26 = ERXIA 6,000
=r 12,700




